PACIIMCAHUE na nepoe nmosyroaue 2019-2020 yue6noro roga

2n 3 4 | 4o | 2x3k4 | S 6 ¥ 8 9a 90 10 11 6K | 7K 8K | 5K | 9K
K B il
Mar Mar Pyc ®-pa | Aur | Pyc |Pyc 32| HUct | Anr | Anr | Xum | D-pa buo Pyc Mar
13 | 35 35 | 27. ] 3l 36 13 12 26
AHr ®-pa | Mar Pyc |Mar | Uct buo 36/OBX| Pyc | ®u3 | OPP | Pyc I'eor Mar Pyc
13,24 38 31 | 35 28 | 32 | 27 | 34 | 33 12 . 26 12
Mar | Mar ®-pa Anr | Cs.otr JZI"; Cs | Pyc | JIur |Anr 31| My3 | ®u3 | ObX | buo ®un.r| Mar JIur UK3|buo
E 13.23 34 w | 9T | 32 | 33 21 | 27 | 28, | 36 [p35 26 12 |25 | 15
2 e 134
g P-pa | Tex Pyc Pyc Uren Mar |Hcr | buo |Anr 31| Pyc |Uad | Pyc | Aar | ®usz |[MK3 | Uct | Buo JIut
z 22 34 | 36 33 | 26 32 | 13 | 27 [ 23 | 35 15 12
= Ilcux B | JIut (@-pa| U130 | buo | Uct | Hem | Jlut | Anr O-pa Hcr Du3
4x15 | 32 28 | 36 | 34 | 26 |33 | 13 35 27
Jlor B 4x| Hem |O6mm Tex |Hewm | ®-pa |Kn.u | buo JIut ®-pa Hct
10 31 | 34 (M) | 26 28 | 35 12 35
Tex(M)
4 gaca
O6rp | O6p Pyc Pyc Pyc | Pewnp | Pyc | Pyc | Aar |I'eor| Mcr | Xum |®-pa|Mar | Pyc12 | Mar | ®-pa
: 38 32 133 |¢1)13 | 28 | 35 | 36 34 26
O6.rp | O6.rp Mar Mart Anr | MK3 38 |O6m | JIur [JIur 32| Xum |O6my | @-pa | Mar | Mar | Jlut 12 | ®-pa | Mar
13,21 35 | 33 36 | 27 31 | 34 26
Mar | Mar Uren Yren | O-pa | Oxp 38 |@-pa| Aar My3 21| JIur | Xum | 'eor |OPP |O6m | CBO 15 | Uuad | Pyc
13 33 | 36 | 28 | 35 | 27 26 12
= Texn | P-pa Oxp Oxp | Texn |UYren 38 |Hem | Mart | I'eom |®-pa| Anr | Jlur |Teor |[Texa| Mar26 | Hcr |Ilc Xum
= 27 | 34 | 31 13 | 32 | 28 33 |39 [36
é A0 Mar 22 |Mar [ Mar | @-pa | Aar | JInt | Hcr | JIur | Xum | U30 12 | Tex (m)| . Texn
31 | 34 13 1532 | 35 133 | 36
Tex 34 |Kmu | Ycr | Aar |Uud |®-pa| Aur |OBX| Jlur [Ic 39 Tex |Tex(m)| Texn
31 | 35 |€2)13 | 26 32 |28 | 33
Tex(m)| Tex(m) | Texn
Tex(m)| Tex(n) | Texu




la | In 10 2a | 2n 3 4 | 4n | 2x,3x,4 5 6 7 8 9a 90 10 11 6K | 7K 8K 5K | 9K
K
O6rp | Mar Uren Uren Pyc N30 | Anr | Pyc | I'eor |O6u1 | Xum |Anr 32| duz (OBX| Pyc 12 Mar M30buo
38 13 | 33 28 35 | 36 27 | 34 26 |38 |15
O6.rp | O6.Tp Mart ®-pa | Mar | Purm | Pyc |Jlur |Aur(l) | ®u3 |I'eor | Xum | Uct | Mar ®-pa Pyc |Pyc [Ceor
38 32 | 33 1?542%4) 27 | 28 | 36 | 35 | 34 12 |12 |15
Mat | O6.rp ®-pa AHr Oxp Yren |['eor |Mar | Pyc | Pyc |I'eom|buo 36| Mar |Uu¢d | buo 15 Jut |JIut |UcT
13,23 38 28 | 34 | 32 33 | 27 31 | 26 12 |12 | 35
) ®-pa | My3 AHr Mat | Yrten |Mar 22 |Jlut |Mar | ®u3 | Anr | buo | O6uy |Uud | Jlur | CbO 15 | Aar | ®-pa
g 13,24 32 | 34 27 28 | 36 35 26 | 33 12
© N30 N30 O®-pa | Tex |®-pa| Texn | Xum |['eom |Anr 31| JIut | Aar | Jlur 12 | T'eor Mar|Uud
() 36 | 27 33 | 13 15 |26 | 26
Texn 32 | Tex Texu | Pyc |Marem (kore) |®@-pa|Kmu | Jlor 10 | UK3 |IIc [CBO
(1) (1) 33|26,27,28,31,34 36 25 |39 |15
Tex (m)
Tex(m)
Tex (m)
Tex(m)
O6rp | O61p Uren Pyc Pyc |Texn 38| Pyc | Anr | ®-pa | Anr |Hem [HMct 35| Pyc |I'eor | Jlut |[Icux| buo Mar
32 | 13 27 | 26 33 | 28 | 12 | 39 15 11
O6.rp | OG.rp Pyc Uren | ®-pa |MK3 38 |®-pa|My3 Jlur 32| Anr | Anr Hem 26| Xum | Uct | Mar 11 | T'eor Pyc
21 28 | 27 36 | 35 15 12
Oxp Oxkp Oxkp Oxkp Anr |Yren 38 | Uct | Pyc | 'eor |®-pa |d-pa|Pyc 32| Mar | Xum | Pyc 12 Mar |Jlur|['eor
13,21 35 | 33 28 31 | 36 26 |12 |15
_| My3 | ®-pa TexH Texu | Yren | Pyc 38 |Mar |['eor |Aur(2) | JIur | Pyc [buo 36| ®u3z IMXK| Teor 15 | Pyc | Jlor 10
2 31 | 28 1?{512%(1) 33 | 32 27 | 35 12
S| PPJIur | PP Mys Mys A0 ®-pa [Tex(m) Texu |Uct35 | Anr | buo Jlur 32| Mar |®@-pa| My326 | CBO (Mys3|Jlut
= 13 | 36 ()31 15 |26 | 12
My3 26 [Tex(m)| Texu ®Pu3 27|Tex(n)| JIutr [OJHK JTut --- Pyc | ®-pa
32 | P35 33 12
Tex JIut 12 [Tex @
Tex Jlor10Q [fex®
Tex
Tex [Tex(m)




la | 1n 10 2a | 2n 3 4 | 4n | 2k,3k,4K o) 6 7 8 9a 90 10 11 6K | 7K 8K 5K | 9K
Oxkp Oxkp Mar ®-pa Pyc | Pyc38 | Pyc | Pyc Anr (2)] Hem | ObX ®Du3 27MXKMar 34 Mar 26 | Xum | CBO 15
32 | 33 13 31 | 28 27 36
Mar | Mar ®-pa Mar Mar | Peuw.np | Aar |30 |Pyc32 | Pyc | Uct |Anr 31|O6m Mar 34| Pyc 12 ®wusz 27| Mar 26
38 13 | 36 33 | 28 35
N30 | ®-pa Pyc Pyc Oxkp Yren |MU30 | Pyc (OAHK| ®u3 | Aar Pyc 32| Matr Mart 34 Mar 26 | O6m | Pyc 12
38 36 | 33 | P28 | 27 | 13 31 35
=3 ®-pa | 130 Uren Uren | My3 | Mar 22 |OH | Mar |Anr 31|T'eom | ®u3 Anr 32/ O6u1 Aur 13| d-pa  Mar 26| Jlut 12
= KP 36| 34 28 | 27 35
= Ilcux 34 |PycP | Uud [buo 36|I'eom | D-pa Uct 27| Anr | O0wm | Tex |UK3 | CBO | Tex |Anr
= 5132 26 28 13 | 35 25 | 15 |0 |12
Mar Anr (1) U130 | Pyc | Uud Uct 27| Tex | Uct | ®-pa | Tex |O6m
31 13 | 36 | 32 | 26 35 () | 35
Tex (m) Tex () Tex
Tex(m)| Tex(m) Tex
Tex ()| Tex(x) Tex
Tex () Tex
Yren ®-pa|P-pa| O6uy | Aur |OAH | I'eom | buo (@uz 27
26 13 KP 35 31 36
Mar buo | Aur |Pyc 32| ®-pa| Anr | ®-pa | Uct OPP 35
36 | 13 27 26
= ®-pa My3 ®un.r| I'eom | buo | Jlutr ®duz 27| Aur OPP 35
S 21 |p26| 31 36 | 32 13
b=l N30 Mar | buo [Ucr 35| Uct | Arr | I'eor |®D-pa| Actp
© 31 | 36 26 | 13 | 28 27
Jlut |OJH | ®-pa | I'eor | ®u3 | ['eom Dun.ribuo 36
32 KP 35 28 | 27 31 |p26
Dun.T OIH |T'eor | Jlur ®-pa
p 26 KP 35 28 32




